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Hava ford |

Q.W?ENW?WWW#E?Q

3T 3/

3. WWWWE’#WWW 3.

Instructions for the candidates :

Candidate must enter his / her
Question Booklet Serial No.
(10 Digits) in the OMR Answer

Sheet.

Candidates are required to give their
answers in their own words as far

as practicable.

Figures in the right hand margin

e & B‘L / indicate full marks.

4. A Hl 98+ & W 4. 15 minutes of extra time have been
RienerEt &t 15 e &1 AfaRw g allotted for the candidates to read
&7 mar &1 the questions carefully.

S. qE mT 5’7?5%7 gl @vgl 7§ — This question booklet is divided into
GUeg-3f 79 Gug-F/ two sections — Section-A and

Section-B.
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GUS - A / SECTION - A

a‘&lﬁ'@‘ wyq / Objective Type Questi::;m
v T 1/ 70 7% ¥ A% W7 & W AW By Ry e & Frrf @

. T wgt
a7 g7 g7 1T W HeT FOMR e W R #¥) frf a5 gy ¢

BT ITT F)

Question Nos. 1 to 70 have four options, out of which only one is correct You have ¢
: ' (0]

mark your selected option, on the OMR-Sheet. Answer any 35 questions.

(et mmemm sl SR WIS ( e, ) B &

35x]1=35

‘e

w o = B) exe,
€ e+e | D) e-e,

The relative permittivity ( € ) of a medium is

wod Apnysqasq mmm//:sdny

@ E'z_. (B) EXEp
(C) e+eqy D)  e-€
1 g B 1_ 4
A) dmey T () dne, 2
2
g.r L L
(€) fht < (D) dne, T
The value of electric potential at a distance r from a point charge g is
A q 1 4
(A dne, r B aney r?
2
C q.r 1 49
) 4n e, (B) 4ney T
¥ e ——— __-—---—-_-_F
o ?1-“|17 1A @)-9001-1&[31] Page 3 of 28
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SR 1 JS-TAe TR Bl
TR x T AT B 23
@) I o | Fryr—
3TET :
© gw U AR LR e

Surface density of charge is equal to

(A)  Total charge x Total area (B) I‘.’Eall__c_l}f___rg&
Total area
Total charge :
.(C) Total volume (D) Total charge x Total volume
U T RIS Rl g &
(A} 80 : (B} 60
© 1 (D) 425
The dielectric constant of water is
(A) 80 (B) 60
€ 1 . (D) 425
R B =t gedt &} Rrga-wiftar et &
(A) R - (B) 4neg R
4n =
4n e 2
(©) = (D) 4ney.R

Electrical capacitance of earth of radius R is

R | R
(A) . Fneg . (B) 4neg
47‘ EO 2
(\&) B (D) 4ney.R
[.117 ] A |{A)-9001-Aqa) Page 4 of 28

https://www.bsebstudy.com

wod Apnysqasq mmm//:sdny



wod Apnisqasq mmm//:sdny

https://www.bsebstudy.com

N

o QffR SRR B )
(A) % | (B) 1w x 1'@%03
(C) 1aia.’xlaﬂ=r_ (D) ::;
One ampere is equal to
% (B) 1 coulomb x1 second
(© 1voltx 1ohm O T;;‘:
o e o T |
Ay = (B) S
© e (D)  =ge S THR
Unit of clctromotive force is
(B) joule

(A) ncwton

©  volt (D)  newton/ampere

8. _:www;%m%mngﬁfm%wﬁwmﬁ?ﬁ%

(A} I.Rt (B) I.R%.t

€ I12.Rt (D) I2%2.R%.t

The heat produced in a conductor of resistancc R due to flow of current 1 for
time tis o

Ay LRt (B) 1. R2.¢

© 1%2.R¢ D) I12.R%.t

I_ .1"17 ] A [(A)~9001-A{3u| Page 5 of 28
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9. S tesla (3UET) W JAMIT 8 T gy @
" 5”(::'-:2 (B 5=x10° i
) (itz7)?
R
C 2 R
€ S5x10 ()2 (D) 5x 102 @=¥ (HzR)?
Magnctic ficld of 5 tesla is equal to
web
metre) (metre)
() S5x10? ﬁ% (D) 5 x 10% weber x (metre)?
10. WS YRT ® rm.s. WA (1) 3R wemEd ukn & R 7\ (1) F 99
T BT & '
&) I . =0505I, B I, . =0606I,
() I ms. =070715 Dy I, =0808I,
The relation between r.m.s. value of alternating current ( [, <) and peak value
of alternating current (Iy) is
@) I, =0505l ® I, =0606I
© 1, =0707l O) 1, =08081
11, @nig g o o serd wR aRey # L Re A R N RO
afeaTd 1 A gl §
L
w7 e
L
© O 3
[ 117 ) A [(A)-9001-A@1)] Page 6 of 28
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Inductive reactance offered by an inductor of inductance L in ac circuit of

angular frequency o is

B) o.L

w

@ 7
1 L
(C’ o.L (-[-?J E

12. %W%Wﬁm&f@ﬁﬁﬁﬂmvﬁ%?
(A) mﬁﬁqmiﬂa'Qwémwm%xmﬁmwmﬁﬁ

o amert A wife
®) e T = Zoqre} AT VTR

e} A e
© ¥ R = T

(D) mﬁﬁgm’m%[mmwmﬁﬁxaquﬁmemﬁF]'

 Which of the following relations is correct for power factor ?

/J/Power factor = True average. pOwWer Apparent average power

A parent average power
" True average power .

(B) Power factor =

True average POWer _
Apparent average power

(C) Power factor =

(D)  Power factor = % [ True average power Apparent average power |

13, T TRy & & O7 & e H AA ¥ https://www bsebstudy.com "

() 3 | B 4
C) 5. ‘ (D) 6
Value of green colour code on carbon resistance is
A 3 B) 4
€ S . (D) 6

[117 ] A [{A)-9001-Aey Page 7 of 28
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i 8 B 0 A e o (q) W R ot e w o &

14.
- - = - - -
(A F,=aq(VxB) (B) F,=q(BxV)
B xV) 5> (VxB)
i (B xV) >V xB)
) F,= —q (D) F,= q
_’ "
Expression of force on a charge g moving with velocity V in a magnetic field
-
B is
- - - - - -
_w/ F,=q(VxB) (B) F,=q(BxV)
> = - -
- (B xV) * > _ _(V xB)
€  Fpr——p D) Fp=—7p
15, ZgwR & fog Frafafea § @9 @@ e 2
(A) TE A.C. &I D.C.H TEew & |
(B) & D.C. % A.C.H F|erdl &
(©) ¥ D.C.awem &) FeraT a1 U2l §
(D) 48 A.C. deeal Y ST 41 Ul §
Which of the following is correct for transformer ?
(A) It converts A.C. into D.C.
(B) It converts D.C. into A.C.
(C) Itincreases or decreases D.C. voltage
(D) Itincreases or decreases A.C. voltage
16. T Y Weq 1 S.1, HEE &
(&) N : ‘ ' N_
) | | | B 14
© Am . @ Am
1117 VA [(A-9001-A61]  pagesor2s
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S.1. unit of magnetic pole strength is

N
(A) N (B) Am
)~ Am B i\ﬁm*
17. et & rEta y@ W AR HI00 N T A §
A 0° (B) 90°

The value of angle of dip at magnetic polc of the carth is

[A] 0° _’L@_ 90°

= (C) 45° (D)  180°
S ‘

2 18. et = gl v 1 A 8 &

£ | |

§ (A) 05 % TR (B) &I
8. (€ 1% TR - (D) YA

o .

é__ The valuc of magnetic susceptibility of vacuum is

g (A) cqualto 0'5 (B). infinite
= (C)  cqual to one (D)  zero

19.  grhitere () % fow Frefefaa & 9 vy @@ ¢ 2

- H _B
{ﬁl H=g : B) k=
(C) wu=B.H (D) p=(B+H)

Which of the following relations is correct for permeability ?

wod Apnysqasq mmm//:sdny

Wow=g B kg
© w=B.H (D) w=(B+H)
[117]A m Page 9 of 28
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T AR § O g 8 B, T 5, B 1 et v B, I

20.
B = 330 F B, @ @ Frfafaa F w9 w2
(A) B, =Bcosd (B) B, =Bcosd
(C) By = Bsind (D) B, = By, sind
If B is earth's magnetic field in magnetic meridian, & is angle of dip, By is
. - :
horizontal component of E and By is vertical component of B, then which of
the following relations is correct ? -
= (A) By =Bcosd /@3)2—” B, = Bcosd
S
Z (C) B =Bsind (D) By =Bysind
z
: 2 e T & GO Y feem € @
e - |
. - . = .
o (A) E % G (B) B &% GHK
= _
= . s > : 5 - .
5 (€ (B x E )% §H® D) (ExB)% §aRK
(@] .
3 The direction of propagation of electromagnetic wave is
- s ' _ -
(A) parallelto E (B) parallelto B
="' = - -
(C) parallelto( B x E ) (D)—parallel to (E xB)
22, weTe-a frg e i & A @ 2 |
A B) T
© | (D) WebTeT &l citerel
[117 ] A [(A)-9001-Aay] Page 10 of 28
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The unit of which physical quantity is light year ?
[A}/‘ Distance (B) Time

(C)  Energy (D)  Intensity of light

'23. 0 W PRI 9 T g wiafiw g &

(A)  HEEE AR (B) ST 3R 3w
() et SR g (D) aRERE AR I
The image formed by simple microscope is

(AL~ Virtual and erect (B}  Virtual and inverted
(C) Real and erect (D) Real and inverted

24, Iudd oig gR1 Ffefea # sR-w s e R P s g 2
@ Frepe-gfe B) -gfear
©)  SI-gEReTr (D) aﬁ%ﬁm

wod Apnisqasq mmm//:sdny

Which of the following eye defects is removed by convex lens ?
{A) Nea.rsightedness | _ (B) Farsightedness

(C) - Presbyopia (D)  Astigmatism

25, t-Resta s & for e § @ W W@ E 2

a) w=teThr B w=k, ~s )by -
Hy -1
-1 .
© w=l¥ (D) w=”—”_i'i~
Hy ~ K, ‘ Hy
——
[117 1A m]-‘QOOl—A(al] Page 11 of 28
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Which of the following relations is correct for dispersive power ?

Py, =K
(A) w:le—_iL (B) w=(p, 'Pr)[l-ly —'1}
©) w_uy-l | D . ByoBy
- B Hy =KW, ) , Hy = 1
26. freta o ST 1 AT ¢ ) B (u=3/2) H FHH AA BN
(A) %9 (B) %
© - O 3
= Velocity of light in vacuum is c. Its value in glass (p= 3/2) will be
E A
< o F G
é |
4c <
= ) = D) 3
= ’ i
& 7. WHAFY WHENH & oy @ielid e i o el &
E" .
< & -1, B)  foxfe
- | |
Q
2 S D+,
The length of an astronomical telescope for normal adjustment is
A fo-f, - - B fox S
o L | o
(S T _ , D) _ fo+ /e
28 . O T i ¥ o & o W g o A ¥
(A) 1 mm " (B) 2cm |
(C) 25cm (D) 1m
[117 ] A [(A)-9001:Agy]- Page 12 of 28
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Focal length of eye-lens of a healthy man is aboyt

A 1 .
@ lmm B 2cm
(C}— 25cm D) - 1m
ﬂ- +
g9, [amfafaa ﬁm%ﬂﬁwmmmwmm% ?
(A) ¥ (B)  dlisian
€ TR - (D) ™=
Interference of lighf; is the redistribution of which of the following physical
quantities ?
. Mrcquency (B) Intensity
(C)  Wavelength - (D)  Speed
30." TWIZM 1 fEUg-geamE gar €
A I (B) 3
(C) 91x10 kg (D} 16 % 10727kg
The rest mass of photon is ) '
(A) Zero : (B) infinite
€ 91x1073'kg . DL 16x10%kg
31. &R o angfa vt gl @
1 -
(A)  E -Ey=5hv B) B - E,=hv
: a 3
() 1.21 - E, =3hv (D) E-E-= Fhv
Bohr's frequency condition is
) 1, | ) =
(A} E -E,= Fhv (B) E, -E;=hv
(©) E, -E,=3nv ‘ (D) E -E;= %hv
117 | A (A)-9001-Ag) | Page 13 of 28
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32. WX FoH P A g @
() R forgve (B) TEmt arfafsear
(C) ¥ FHUil & Tt (D) R e
The source of solar energy is °
(ty/” nuclear fission
(B) chemical reaction
(C) annihilation of elementary parlticles
(D) nuclear fusion
= 33. faga 1 wod areeT o Frfefad W S ¥ 2
ge!
o .
g @ A () TN
§ . . - .
3 (© @ (D) ST
z .
o ..
EEQ Which of the following is the best conductor of electricity ?
(=W : . . .
*; (A)  Silver _ B)-  Copper
g .
= (€}  Gold (D)  Zinc
34.  NOR-ER% &l §feia o gy &
C) A.B= '
© d (D) A+B=y
Boolean expression for NOR gate is
(ﬂ) A+B= Y l ) -———.l
{C] A.B=Y .
' . =" T —— .—-[DJ" { +B=Y
[_ 117 ] A _’(_A}*UU{H_:\[‘H;I :
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35. E-WR EEW (1001), ¥ [0EE wEw o9 2
[“\-, ﬂ2}10 {B} “. Sho
(C) %ho (D) (25),,
The decimal number of binary number (1001), is

(A) (12 (B) (8,

/(81’ (%ho (D)  (23)

.'1 [ e - ~
. X Tl o -§9 FoRET 3 B HeNd ST E 2

Ax _-\--"-Y ) 4H : A ;
(A). 2 _— 22’ T 1o € ) (B) Z:\——-;
A Ass 4 A
< X— Y+ He @  X—

A
Which of the following represents the a -decay of 2 X?

AX .—\-4Y ' 4H A}{
(A) g X— Y+ He B) X
c Ax Avq 4 ) A
(C) X 2_2‘1 + 2He (D) z.‘-\——+
37. FEldtEd d S Hieie F97 TR 8 2
A =L B) WeH

Qe D

Which of the following is not a fundamental particle ?
(A)  Neutron (B) Proton

€ a-partie (D)  Electron

I

A-4

A+4

4
Y+ He
2

z+2

A+4 3
Y + He
42 2

4
Y+ He
z+2 «+ 2

4
Y + He
2

z+2

17
1A m Page 15 of 28
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(A)
(C)

https://www .bsebstudy.com

TV SR 3 e freiferfaes 3 i g € 2

(B) 30-300 kHz
(D)  30-300 GHz

30-300 Hz
30-300 MHz

Which of the following is the frequency range for TV broadcasting ?

(A)

30-300 Hz (B)  30-300 kHz

(G —30-300 MHz . . (D) 30-300 GHz
39 & % T & oo Preefad § i e @@ € 2

(A)

(C)

(A)

SEICE (B) AHH
dfErmR | (D) e
Which of the following units is correct to measure attenuation ?
dccibel : : (B) ohm
ampere (D) volt

(&)

40.  TF p-WhR 31g-TeTs e &

()
B
(©)

(D)

CEICIN

ORI

ST

WH IFF A9 W SARRIT oifh Io0 aaqmr 1) aferd

woo Apn1sqasq mmamy/:sdny

A p-type scmiconductor is

(A) - positively charged
(B) ncgalivcly_chargcd :
(C) unchargc;lcl _ _=
(D) uﬁchargcd at absolute cho temperature but charged at higher j
tempceratures
[ 117 ] A [(A-9001-A@y| ~ = Page 16028 -
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41.
@ R B &
' 2
h
© 2 o 2
The minimum orbital angular momentum of an electron in a hydrogen atom is
Ak B 4
( ® 5
. h h
}(")—/ 2n (D) 1
49, T UGS TH] ! Gatsehar gt €
w3 B 4
(C) S (D)
Donor impurity atom has valency |
(A 3 (B)
(€} 3 (D)
43, SleemEIE HIGAT €
() SR B) FavErR
€ HRI D) T A PR T
Voltametler measures
(A)  resistance ' (B)—- potential diffcrence
(C) current (D) . none of thesc
“oo2 | _sag e e
C4ne,
A) 9 x10°Nm2c™? (B 9x 10-Nm ?c 2
€) 9x10' Nm?2c™? D) 9% IO'mNch‘2
— I

https://www.bsebstudy.com

FTEeio WA ¥ I H e i ol w3 g ¥

11773 (A)-9001-A@1)]
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The value of ——is
4n €o

(&) 9x10°Nm%c™ B) 9x10°Nm?c™?

©x 9* 10"2Nm2c? &/ 9 x 10-2Nm?c?
a5, Fretate § @9 GO W E 2 |

—» ; - -3
A) E =4 (B) E=qF
~_4 > 1 g
{C] E—: [D} E_'4ﬂ EO -
F F
Which of the following relations is correct ?
- ; - =
(A) E or) (B) E=gF
ndl > 1 4
c E =—E— (D) E =g:;€—o'-_§'
r F
a6, Fora-farvd SRTSR &I 3
9 | B <
A B g
C) wq (D) Jwq

Electric-potential is equal to

a = ® =
©) wg 0)  Jwag
47, T ey-amgol @M S.1 HGE BIdl €
(A) cm (B) cm?
© emt ) em™
| -
[117] A [(A)-9001-Ap)) Page 18 of 28 |
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S.I. unit of electric dipole momep; is

(A) cm
-1 B)  cm?
C) cm
©) - . o
48, T BUS (F) SR BIeT &
A 1CV _
[ ) o (B] 1¢cy-l
C 1CV~™
© ‘ (D) 1cv?
One farad is equal to
A) 1CV B 1ov-
_2 ) .
@ e (D) 1cv?
49. R e w Rafst st @i & g
(a) cv? B oy g
‘ =
@ o '- o Leve 2
Potential energy of a charged conductor is §
_ _ : &
2 1 2 -
A) cv | B icv é
Lov? : 1 2 =
€ SCV o) tev %
0. 3 G (e ) & oractier % ferg et 3 7w ¥ 2
M, —H,
L AL B p=—"3
2
B
©  us 5-2’— D) w=—7 |
e i colour ( yellow
Which of the following is correct for refractive index of mean
COIOUI- } ?
B, —Hy
(4) M= B rHy (B) p=—"7%_
2
| K
2Ok D) K=
- 2 -
. '.:"f.é:f-!.? ] A

[(A)-'QOO 1-Atay) | Page 19 of 28
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51. WA T den B B 9g # vfin ¢k 8

(A) ¥ B I
(C) 100 cm (D) 10 cm
Power of parallel sided glass-slab is
,(A)’ﬂ infinity (B) Zer0
(C) 100 cm (D) 10 cm
52. <o avi-fasiour auEr g &
A (n,-n)A B)  (n, —n,)
€ (n, +4,) D) (p, +4,)A
Angular dispersion is cqual to
(A (p, -n,)A (B)  {p, -1,
(C)  (n, +1,) D) (u, +n)A
53. Tl gERi & fo fefafad F 29 % E 2
Ay So=1e B)  Sfo>/te
) S,<L LDy f,<<,
Which of the following is correct for Astronomical tclescope ?
(A) f0=‘fﬂ [Bl fo>fp'
L <L D) Jy<<le
54, A ¢, B AA A G
W A B) ¥
© 1 | o) 9x10°
The value of €, in air is
(A)  wro (B) infinity
< (D) 9=10°
{117 ] A [(A)-9001-Ap) Page 20 of 28
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55.

56.
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EP R A Wm“mmaﬁmmmg

(A  gE

| B 4

© £ D) JaE

The valuc of force actinglon a charged particle in electric ficld is
&)  qE | ®

© £ D) ek

ﬁaﬁﬂ.aﬁ'maﬁaw rfar

C C

A — } = B
' <
w I
| 2
D) &
(C) 2C .
Equivalent capacity between A and Bin figurc1s
c . c__ 5
A
® 3
(A) C ;
D &
. .ﬁﬂﬁf@ﬁﬁﬁuﬁrmmﬁ?%?
sfaut i q
¥ qufat B4
; @
| o 3 i

|

https://www.bsebstudy.com |
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allel connection of resistances ;

i in par
Which of the following 18 the samc 1n p

(A~ Potential difference
A

(B) Current |
(C) Both Potential diffcrence and curren

(D)  Noneof these

58. WWWW%

A) 10°mH @) 10°mH

© 10°mH @) 107°mH
One henry is cqﬁal to

&) 10°mH | B 10°mH

€ 10°mH (O) 10°mH

so.  feanfiea ae & o Fefefad § S @6 @ ?

B Ty B T,=x

© T, =(0-6931) D) T, =1%
Which of the following is correct for radioactive element ?
A T, =58 | ® T,=1
(C) T, =(0-6931)x o T =}+2

60. FmAfet@a § &= W@ ¢ 2

(A)  (1100), =(12)4 (B)  (1001), =(12),,
2~ W=ho

© (111, = (12),, D)  (1011), =(12)

- 2 ) 0

Which of the following is correct ? |

ﬁ\),,. (1100), =(12),,

€ any, =(12);4

[117]A Page 22 of 2g
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(B)  (oo1), =(12),
(D)

(1011), = 12),0

e et
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61. &ﬂﬁzﬂsﬁvﬁﬁi’af@aﬁﬁaﬂﬁ% ?
(&) AND, OR, NOT (B)  AND, o
() NAND, NOR (D)  OR, NoT

Which of the fo]lowing is correct for fun

damental gate 7
(Al.— AND, bR, NOT

(B AND, OR
(€} NAND, NOR D) OR NoT
62. ﬁﬁ%{f@a 9 B R o ¥
(A) g (B) o ~ShuT |
_ D .
€)  p-=0 _ (D) THARH
ing i d?
ich of the following is not charge
o oh ton o (B) o -particle
” o icle (D)  electron
(C)  B-particle

: Yy o Gr-ante # e {1 @ A g ¥
63. FHrEA Al

B 2
A D) 4 .
bon resistance 18
(C) 3 . colour in colour code of car
The value of yello B 2
A (o) 4
> T AT G € ?
- 3 & ferq Frferf@d = )
64. Uz bt NicRigedl ——
RA »
(A) P="L L
RL

kS

. emRE '
. = of 28 |
' (€) Mz/
— _9001.5(311
> [117]A

ke https://www bsebstudy.com
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istivi jal ?
following is correct for resistivity of 2 mater

which of the L
B P= A
)A)/ p= Ef" (®) RA
RL p) p=RLA
€ P="a P i
(s fovg-FEUT SO Al €
- dx B dx.dV
B gy ®
[C]' dv (D) ':{Hﬁ £} Eh;‘é :lﬁ
X
Potential gradicnt is equal to
dx
(A} ‘&V k (B] dx. dVv
(C— % (D) _ None of these
66. F S I S.L AR €

@) 3m-Ee B) THRER-HRY
© s o) (@R)(EHR) -
S.I. unit of electric flux is
(A)  ohm.metre (B) ampere.metre
(C) volt-metre {-DT// (volt) (metre) -1

67. TEY o:ﬁe # Freifeifed § o & o dvg = Y 2

@ 4 (B) 8
c 4 :
© ' 2 | ~ (D) 100
Which of the following values of n is not possible in relation Q=ne ?
A 4 B 8 )
()] 4-2
[ , : (D) 100
(117 ] A [(A)-9001- :
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68. i '
U TR ufge TYIRT =) iRz 2 feenny Frsifenfiaa i A uh g 7

. En A
A 0
(A) d (1) “y d
A
© A
A o D
S0t _ (D) e d
Which of ing i | |
| 1ch of the following is correct for the capacity of a parallel plate capacitor 2
€, A
(A) 0 €, d
e d (B) yi ek
© . A L
€ 4 . ' @ € d
=
2 69. Torp-aRor ) wfe @ &
LA T
g (A’ V.R (BJ V2 R
z V2 |
o © & (D)  V2.RI.
o
% Power of clectric circuit is,
: - .
& (A)  V.R - . B V2R
— YV D) V2.RI.
= _[G) R | (D) R.I
70.  wifcg wfderd g §
w T
(A) = w
Dl
© w.c @ %
Capacilive reactance is
¢
w B W
(A) p w
O e
Page 25 of 28 . ) ' _
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m 1#2°Wméfwiowﬁm¢;m%,%mw
: I10x2-=
3;.:;0; :::RSI :Io 20 are Short Answer Type. Answer any 10 questions. Euch qfestrf.v:
10x2=20
Lo TR R e e o ofen 3 ,
Define clectric flux on a surface,
2. gE fava 9 fo 3 ,
Definc magnetic potential.
3. IO @I Rl § 9 w1 e § o 9
What do you mean by capacity of a conductor ?
4. OV F WG A H GRS ) 36 S0 TS F R 2
Decfinc volume density of charge. Write its S.I. unit.
5. Thdl WM W & I 999 I F 9 =T qHI § 2 2
What do you mean by apparent anglé of dip at any place ?
6. LI & fram fod | ) 2
Write Brewster's law.
7. i SR @ S s v 2
Write two essential conditions of constructive interference.
8. 3% F WO &A1 Q@ AT H G & ? ?
What do you mean by power of accommodation of eye ?
2

9. Wﬂ%qﬁﬁaﬁmmﬁﬂ%%ﬁ@ﬂ%ﬁ&ﬁﬁﬂ@l
. ; ight,.
Write nceessary conditions for total internal reflection of llg;_
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https://www.bsebstudy.com

wod Apnysqasq mmm//:sdny



https://www.bsebstudy.com

10, TE SR R A w1 WER § 2
What do you mcan by Paschen scrics ?
11, der ( p) ol & < il 1 fed
Write two properties of beta ( f3) raysf.
12. nUER F FEAEE B GHAY |
Explain n-type of semiconductor. B
13. NAND-ER®& %I THeH |
Explain NAND-gate.~
14. A HIger Sl T |

Explain frequency modulation.

15. 9™-9Ed Haq ot forid |

R

Write Biot-Savart's law,~-

16. ToR[d AR S gre |

Explain electrical resonance.

—

wod Apnisqoasq mmm//:sdny

17.  EETR § 99-a7F o €A )

Explain copper-loss in a transformer,
18.  UR-¥A H 9 |

Explain solar cell.
10. 3SdAeH A A9 F41 IR £ 2

What do you mean by semiconductor ?

20, fiedaeh FRUTY il THA |

Explain scc-ondary rainbow.
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ﬁ&ﬁ'ﬂ'ﬂ'ma’Long Answer Type Questions
v WeAr 21 @ 26 34 sl wyA & | fEt 3wyt & v § 1 99w & v
5 3% fraffea & : 3x5=15

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any 3 questions. Each

question carries 5 marks : 3x5=15

21, Ydrl @8 & fore iR e gan g wenfua Y 5

1_ 1l 1
7 (k-1) [ R] RJ
Establish the formula for thin lens given below :
1
| ==
f e [Rl Rz]
2. WIE QEOEH @l e emal & f e W )

Find out the expression for magnilying power, of compound microscope.

23, ﬁﬁqﬁ\a-ﬁw#wwmmﬁwmﬁwmaﬁ\ 5

Establish the expression for electric potential at a point duc to a small electric

7]

dipole.
04, ST "R & at-mre-Te & fog e W

e valuc of an alternating current.

wn

Find out an expression for root mean squar

o5, qﬁ@;ﬁ,ﬂq ‘HﬂQaﬂqaﬁIFﬁgqm’aﬂﬂwiﬁa?‘Iuﬁiﬁfﬁél 5

gnetic and ferromagnetic materials.

wod Apnysqasq mmm//:sdny

Writc propertics of diamagnetic, parama

\Feaifiee Tt ®Y or-ag S s g F S FT T € ? eanfza o

26.

S
¥ fou fageq @3 (N= N e M) i F
: ive s ?
What do you mean by half-lifc and average life of a radioactive substance
=it ; i bstance.
Establish disintegration formula (N= N, €™ ) for radioactive Su
https://www.bsebstudy.com
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